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g Question 5 v .

: ulsory i
of non-pr ogrammable calcy pu'sory and selecting

X-X-x lator is allowed.

pestions from each Part. Use

Find the relative error if g number ig ¢
. - 5 correct to n signifi igri
\\Tlull 1S t.l](\ (i‘[}(\‘rEIlce b@t-\\'een 'l‘rallsc d g 1cant dlglts.
Give examples also. : endental and polynomial cquation?
What is the differenc between direci
_ 't . Irect and i ati . . .
multancous linear equations? rterative methods of solving si-
If A\ is an eigen value of an ortho .
. . - ‘hogonal matrix : : :
also its cigen value. A, then show that 1/ is
; L T 7' S . R i . : .
W hﬂ‘t. 15'13(— difference between Newton Interpolation and Hermirte inter-
polation? ' (5 x 2 16)
. J =
PART A
Find the relative error if the number = = 0.004997 is
(i) Truncated to three decimal digits
(ii) rounded off to three decimal digits. (4)
Find a real root of the equation using bisection method correct to four
decimal places: (6)

!

¥ —x—-10=0

Using Bairstow’s method, obtain the quadratic factors of the following
polynomial equation (upto third itcration) starting with pg = 1.

(3)
qo = O:

4 — 813 +392% — 62r +50 =10

3 " 0p — 5 = 0 using secant method correct

Find a root of the equation ¥
to four decimal places.

nula inversely 1o obrain the root oI lne equaiion

(5)

terpolation formula, show that (5)

N n('n+1)}2
2= { 2

Apply Lagrange's fort ¢ to o o
f(;) =0, céiven that f(30) = —30, f(34) = —13, f(38) = 3 and

f(42) = 18.

Using Newton’s forward In

P.T.O.



PART B

. s inverse of the matrix :
5. (a) Using Gauss- Jordan method, find the MVerse (5)
. (a) Using Gauss- Jordt
2 2 3
2 1 1
1 3 5

(b) Find the largest eigen-value and the corresponding eigen-vector of the .
arg 5
‘_)j

trix using power method:

1 3 -1
3 24
-1 4 10
1 dx . L
6. Evaluate/ Toa applying (10)
0

(i) Trapezoidal rule
(ii) Simpson’s 1/3 rule
(iii) Simpson’s 3/8th rule.

7. (a) Using Euler’s method, find Approximate value of y when ¢ = 0.6 of

dy : : .
d—? = ]_ o Z.l‘y- gl\'e” thal Ulo) = O ([al\'(\ h _ 0.2) {.))

(b) Find the best value of ¢ & such : '
a and b such that Y = a+ br fits the given datain

the table: (5)
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